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Attempt any ten parts :

(O What are the benefits of using pointers ?

() greatest

Write a macro with arguments for selectiﬂg"he .

of three numbers using conditional operator-

(iif) owing

How would a computer evaluate the foll

eXpressions for m = 2> " = 5 ? Give sicp .by-step
., . of. ’ ‘
Sequence of operatio™ bY using .p_recedencf_ : |

. Operators :

@  +inrpe- + 3417 :
| : PTO.
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()] m%(ntﬁ%‘;)
(C) 2*""fm+3*++n¢_
(iv) Fill in the blanks -

(@) for(;)isan . _ : |
Steeeaanae Oop_

(b) The expression x[5] and 5[x] are

(¢) Character array is a

............................. is specified in the place of returﬁ

type for 5 function returning no valy
iue,

(e)

d i :
Pointer vajue of a variable that pef,
ers io a

v, lOCALION.

w A ﬁ,e iS Opened by ............................ .

(v)

Why ¢
o
We recommend the use of pareptheses for

forma]
ar :
BUmens sed in macro definition 2 Give an

Example,
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(vi)  Explain what is likely to happen when the following
situations are encountered in a program :
. (4) Actual arguments are less than the formal

arguments in a function.

(b) Data 'type of one of the actual arguments does
ﬁot match with the type of the _correspondihg
formal arguments.

(vii) Write a for loop that iﬁitializes ail diagonal elgments :

of a two-dimensional array. ‘imp‘ to one and others 10
zero. Assume 5 rows and 5 columns.

¢ (v,-ii)‘ Rewrite the following without using compound

relations

if((m1>60 && m276m“ {200

printf(“admitwd‘ ):

else

Wodr).
ittee %

printf{**not ad
: P.T.O.
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R O A N6 o
. } ' " : (b) int m=10, n=T; |
(:x)‘ DlStlﬂgulSh between the initialization and assngnmem of | T .
vanables o . _ T ~ while(m%n>0)
| '(x)_v Explam the output of the following program s'e g".‘ems S ‘ - g : o -
-(a) int a=4, b=5,s,t - I — L _ . R
s—(a",'*')‘*,b;, R
printf(*s=%d",s); T T - S mR
t = —ath; - o b . =2y
s =8 . }
pril‘ltf("\ns=°/.°;1’3,s);” ' | . X : L :
oo : o 2. Attempt any fwo parts ! " 28,
(b) int x=10, y=js. ) .
s s ‘ | o ~ | iable ?
= . : _ . . by the storage class of a variable 2.
X = (x<y) 9 (y+x) . (y-x); L L : . o . (@) What is meant by = .
: - - ' specifications available
PR\ a4 ). ; T ~ Explain the four storage. class specifications &VATEDE
. (xi) Analyse ‘each Of the following progmm SegInents and . ) ‘. o m C. i
- determmeh | | ) . ' : P .
ow many times the body of each loop will (b):  What ‘are the' différent if statements available in ol 4
be executed : o oo . : . .
- : " ' g - B S s s with €Xampleg
. (a) i nt i : ; N » . , 1 Explain them e |
- R . . ot O the elno Lo prooram
- . _ in the outP?® . e following progra
: f°'('=0, s, 209 o | (@ Explain the 0% T SoTowle
B T " Hinclude<stdio®”

, : : : int a=100. 5’200‘, . o :



a

ma'in(');,

-

- int ‘co‘?“.t;' €5

for(count=1; - count - <=5; count++). -

" c=4*count*count; ‘.

printf(f‘\n%d"ﬁm 1(9));

funl (int x)

int c;
C=(X<50) ? (a-i-x) : (b-.\')i

 return(c); .
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-..; \""-ﬁn—-w.._,"__ —
Ty . : :
: R - S 11
"3, Explain the oulpul of the tmiwa i . . |
. NI g programs (Attempt uny
o parl%) : N~ ) A
L ) . ' Av : '-‘ ' 2‘5
(a) #inclp_de <stdloth> I .
mt sum (m( int, inl#)':'. .
mt main (voxd) e
o
it a=4. b=1T72 )
int cISIFO143.15 63
int* pee:
g=sum(pe: & &by, - .
°/ /od o, _
ntf('z /od o,
;prl /od %d %d %d\n
| [01 c[ll o2}, of3) c[4]) a b,
} .
* X. “t- y .

. mt sum (“t

’ |nt* pZ)

int %

int* P



‘. Printi, %d %d "/d\n" ,‘bx, . "Pi)“.
 for(p=py; p<px+5 pHt) a
pryrap
oo “
. retum( pz-l-*

}

P"*y)

by #include<s..tdio.h>: :
 void maing
{
int i, j, ele,-a[éO];
 clrscr(); -
ele=123s;
i=0;
while(eléO)'.
v o
ali]=elogyg.
"

elesgj g,
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(©

o

prmtf( “n Number ls“)

“for(j=i-1+ >=0; J..)

#ihciudej«tdio.lp

void fib(int n);

* void main(} '

A

int m;

. clrser(s: .
n=10;
printf{“Series .is “)’;
fib(n); | |

}

void fibint )

{
" static” int @D
int ¢;

' iﬁnﬁ)

i
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) .

b=1;". -
'}  .
velse
= o

’ﬁb_(n-!);-_'_.~

c=b;

' >b'.—‘a+b;

pri lntﬂ‘m/d “) a): A

Attempt any fwo parts .
' - 2x5

(@) Write a C Program lo draw 8 random sample of oo

n from chn-square "'smb ion with k degrees of freedom,

Also find it N
o a".and variance.

b) ' Develor-; a C program o find median df the givé“ _
discrete data in the form .
. {(x"» f;),i = ‘. 2q 3. *vereny NN <_.___25}.
() Deve‘op a Cc program to Obta“‘ C A X B, Awhere A
c .

ma(na“dB"“"Pmamxandms“’-P<“5.

Attempt anY' o PO ‘ 7'/=><2
(@ Write 8 € beg“m to °a'¢ulété ;ﬁeﬂmovins :avéfagé of
- z6. m for @ sample of n °b5°""a"°"$ B
si - .
: ’l exéefimbﬂt on immunization of cattle from; ;
b In an .
3 mbemul§535 ihe following ‘re‘s.ults werje‘ qbt?iﬁéd :
| | aw unaffected

2

-.Inoculated

. Not inoculated -




G

\v@"}?ﬁ:’”— LD _»_*i ‘ .

BREES e
DevelOP acC Program ¢o obtain the value, of

j"(log * sin(2x) + 42 )az,
o " x 'y'“g betwecn 0 and 0.8 usmg

Slmpson s "th "llle

e :



